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ENGLISH VERSION

Instructions : (1) Attempt all questions.
(2) All questions carry equal marks.

1 Give the meaning of social problem and explain its 14
disfunctions.
OR
1 Discuss the problem of disestablished development oriented 14
aspects.

2 Give the meaning of structural problems and discuss the 14
reason of sexual inequality.

OR
2 Give the meaning of communalism and reason of it. 14
3 What is social problem ? Give the objectives of study 14
of social problem.
OR

3  Give the meaning of family problem and give the reason 14
for divorce as a family problem.

4  What is untouchability ? Discuss the untouchability as a 14
caste inequality problem.

OR
4 Discuss the problems of religious disharmony. 14
5 Write short answer : (any two) 14

(1) Ethnic disharmony.

(2) Reason for dowry system.

(3) Discuss the problem of values crisis.
(4) Characteristics of social problem.
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